Unit 2 2.2

Name:

Systems of Equations: Solve by Graphing
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A) Graph the equation y = 2x — 1 on the grid.

-

{5

1;/,7’?

e

1 :
B) Graph the equationy = 5% + 2 on the same grid.
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C) Dotheequationsy = 2x — 1 andy = -:-x 7

have any solutions in common? How do you know?
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A set of two or more equations is called a system of equations. A solution of a system is an ordered pair that
satisfies both equations.

Examples:

1. Which ordered pair(s) is//a_re a solution(s) to —8x 4-/6)1_51{
a. (6,—-10)

( .b.' _(,.0_ ’_2_),_/'\}

e (=9,-10) d. (14,9)
e ——— .

2. Which ordered pair(s) is/are a solution(s) to 4x — 5y = 30?

b. (10, —14)

¢ (22) d. (—6,0)

3. Which ordered pair(s) is/are gus_o_]y_*_cion(s} todx —y =9?

a. (—=10,9)
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¢ (=5i=2) 4. (722)



Problem Set 1: Use the graph to determine the solution to the system of equations

» 4
iR
A {y:x——l \\ /,—4
TR ="k e
fest <
5‘.0‘ 7‘6_
‘ ‘f . 3
7
| L y .
8. {y=2x—3 N
y=—-x+6 2
R
N
j X
f‘ |
#/
i
{y=x+1 T
C 1 5
y“_§x+5 \‘F\..\
jo ~
0 :
\‘v,)‘tii
Y




Problem Set 2: Graph each system of equations to determine the solution.

A_{y:%ﬁ.—z;

y=-3x+4 %

(2,74)
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Problem Set 3: Graph each system of equations to determine the solution.

{2x—3y=12
"(10x -6y =6

(-3-6)

x+4y =12
c |
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A system of two linear equations can have no, one, or an infinite number of solutions:

No Solution: [Mra fle { One Solution: (f\ 10((”6“49 Infinite Solutions: §c}/r\€ vAes

“neg lines
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Consider the equation y = 5x — 3 . Write a second equation that would create a system with...

A) zero solutions

Lﬁ‘. Cx vy 2 m= G Io_’-f-'g

B) one solution \ﬁ v g/'l K _3 M 5\‘. g

C) infinite solutions ? “j = o, ano Yrer VErs o O‘(
e Sane /e

Extra Practice
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Y = 1x+3 . y = 5x+6
3 s i a, =73
{2x+4y=12 VSame linc {10x+6y=1_8 |
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-2x+y=-3
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